
IT SCARPIERA

ARMOIRE À CHAUSSURES

SCHOENENKAST
Istruzioni per il montaggio

Instructions de montage

Montagehandleiding

Schuhschrank
Montageanleitung

DE

AT

FR

CH

CH

CH

NL

SHOE STORAGE CUPBOARD
Assembly instruction

GB

IAN 90356
DE AT

CH NL

Assembly instruction

Schuhschrank

1 / 14

mab
Notiz
Änderungen und Ergänzungen  bitte einpflegen

Danke



2 / 1437.13 2405475 15/06/13

1

8

8

5

2

6

6

3

7

7

7

7

4



2 x ZB5

3 / 14

0

1

2

3

4

5

6

7

8

9cm

Beschläge /
Hang- en sluitwerk /

Ferrures pour meubles /
Guarnizioni / Fittings

Teile / Pièces / Pezzi / Onderdelen / Article

Sie benötigen:
Vous avez
besoin de:
Le servono:
U hebt nodig:
You need:

� 8

10

10

1

8

52 6

3

742x

2x

4x

1 x VB10

5,0x35

6 x VB4

1 x VB9

8,0x40

6,3x13

16 x SO6

3,0x15

12 x SP2

M4x19

4 x SG14

2x4 x AK3
10 x
VB 1 10 x VB14

4 x GL72 x GR18

mab
Notiz
Änderung bei SG14: "M4x20" anstatt M4x19



4 / 14

Sicherheitshinweis:
Achtung: Bei mangelhafter Montage besteht Gefahr für die Sicherheit. Aufbau durch
fachkundiges Personal empfohlen!

Pflegehinweis:

Bestimmungsgemäße Verwendung:

Bitte nur mit einem Staubtuch oder einem feuchten Lappen reinigen. Keine scheuernden Putzmittel
verwenden!

Produkt nutzbar für den privaten Wohnbereich.

FR

CH

Note de sécurité:
Attention: En cas de montage incorrect, il y a risque pour la sécurité. Installation,
recommandée par un personnel expérimentée.

Note d'entretien:

Utilisation selon destination:

Ne nettoyer qu'avec un chiffon à poussière ou un chiffon humide. Ne pas utiliser de produit à récurer !

Produit utilisable pour le domaine de séjour privé.

IT

CH

Nota di sicurezza:
Attenzione: Nel caso di montaggio non adeguato c'è pericolo di sicurezza. Si consiglia il
montaggio da personale esperto!

Nota di trattamento:

Uso secondo le disposizioni:

Per favore pulire solo con un panno per rimuovere polvere o con uno straccio umido. Non usare
detergenti abrasivi!

Prodotto addato per uso domestico.

NL Veiligheidsinformatie:
Opgelet: bij een gebrekkige montage bestaat gevaar voor de veiligheid. Montage door
deskundig personeel aanbevolen!

Onderhoudsinformatie:

Gebruik overeenkomstig de bestemming:

A.u.b. alleen reinigen met een stofdoek of een vochtige lap. Gebruik nooit schurende poetsmiddelen!

Product bruikbaar voor privéwoningen.

DE

AT

CH

Safety instructions:
Warning: Deficient assembly causes safety risks. Assembling by qualified personnel is
recommended.

Care instructions:

Intended use:

Please do only clean with a duster or a damp cloth. Do not use any scouring agents!

The appliance is intended for household use.

GB



5 / 14

A

4x ZB5C
4x ZB5A

4x ZB5B

2 x ZB5

1

2

2x

2x

ZB5

ZB5



6 / 14

B

3,0x15

8 x SP2

M4x19

4 x SG14

6,3x13

12 x SO62 x ZB5

1

2

6

6

SP2

SP2

SP2

SP2

GR18

SO6

SO6

SO6

SO6

SO6

SO6 ZB5

ZB5

ZB5

ZB5

SG14

SG14

2

8

2x

2x

7

2 x GR18

6

8

7!!

mab
Notiz
Änderung bei SG14: "M4x20" anstatt M4x19



7 / 14

C

5,0x35

4 x VB44 x VB1 6 x VB14

1

1

VB1

VB1

ZB5A

ZB5A

ZB5C

ZB5C

VB14

GL7

GL7

GL7

GL7

VB14

VB14

VB4

VB4

VB1

VB4

4 x ZB5C
4 x

ZB5A

2

2

VB1

VB1

ZB5A

ZB5A

ZB5C

ZB5C

VB14
VB14

VB14

VB4VB4

VB4

4 x GL7

40

40

40

40



8 / 14

5,0x35

2 x VB4

3

4

5

VB1

VB1

VB1

VB1

VB1

VB4

VB4

VB14

VB14

VB14

VB14

6 x VB1 4 x VB14

VB1

VB1

VB4

1

2

3

D



9 / 14

VB1

4

1

2

1
2

4

5

3

E

5



10 / 14

F

3

2
1

4

5

VB1



11 / 14

Wandmontage:
Bij verbindingsmiddelen voor de wandbevestiging moet de geschiktheid van het
dragermateriaal worden gecontroleerd.

NL

Wandmontage:
Bei Verbindungsmittel für die Wandbefestigung ist das Trägermaterial auf Eignung zu
prüfen.

DE AT CH

Montage mural:
En cas de moyens de liaison pour la fixation murale, il faudra vérifier l'aptitude du matériel de
support.

FR CH

Montaggio su parete:

.
Nel caso di mezzi di connessione per il fissaggio della parete il materiale portante deve
essere esaminato in vista della sua idoneità

IT CH

GB
Wall fixing:
In case of connective devices for the wall mounting, the supporting material must be checked for
suitability.

G
12
+/-1

VB10

� 8

837

VB10

VB9

4x AK3

3

1
2

4

5
1 x VB10

1 x VB9

8,0x40

4 x AK3



12 / 14

6,3x13

4 x SO6

4 x ZB5B

2

2x

ZB5B

ZB5

SO6

1

7

1

2

6

2x

3

2x
8

ZB5B

ZB5

ZB5

ZB5B

SO6
SO6

ZB 5C

H



13 / 14

3,0x15

4 x SP2

A

B

6

7

6

7
7

2x

SP2

SP2

C

6

6

ZB5

ZB5

ZB5

!

I



FMD Möbel GmbH
Heidländer Weg 68
D-49201 Dissen a.T.W.
@ service@fmd-moebel.de

+49 5421 9448-44�

IAN 90356
DE AT

CH NL

14 / 14



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.5
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.1000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 150
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages true
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth 8
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /CreateJDFFile false
  /SyntheticBoldness 1.000000
  /Description <<
    /ENU (Use these settings to create PDF documents with higher image resolution for high quality pre-press printing. The PDF documents can be opened with Acrobat and Reader 5.0 and later. These settings require font embedding.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308030d730ea30d730ec30b9537052377528306e00200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /FRA <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
    /DEU <>
  >>
>> setdistillerparams
<<
  /HWResolution [4000 4000]
  /PageSize [595.000 842.000]
>> setpagedevice




